
REV REVISION DRAWN BY APPROVAL DATE

01 INITIAL MANUFACTURING RELEASE AJC AJC 07/14/14

ITEM PART NUMBER REV DESCRIPTION DESCRIPTION 2 Qty
1 10015 RECEIVER-DRIER/W LS-SWITCH 1
2 10019 TRANSDUCER,500PSI,PSIG XDUCER 500PSI 0-5VDC OUTPUT 1
3 10036 SENSOR,OAT OUTSIDE AIR TEMP SENSOR 1
4 10048 CONDENSER,18X14 18" X 14" PF AC CONDENSER WIDE 1
5 10095 TELEMATICS MODULE,HED CL-T02-100-ODS-001 1
6 10096 ANTENNA,TELEMATICS,HED,7M CBL1 108-01-606–GSM/GPS 1
7 30001 KIT,HARDWARE,COMPRESSOR 1
8 30053 BOLT,FLANGE HEAD,M10X1.5X30MM ZPS,GR 8.8 8
9 30054 BOLT,FLANGE HEAD,M16X2.0X45MM ZPS,GR 8.8 4
10 30055 NUT,FLANGE,M16X2.0MM ZPS,GR 8.8 4
11 30056 BOLT,FLANGE HEAD,M8X1.25X25MM ZPS,GR 8.8 4
12 30058 BOLT,FLANGE HEAD,M10X1.5X20MM ZPS,GR 8.8 5
13 30059 BOLT,FLANGE HEAD,M6X1.0X55MM ZPS,GR 8.8 4
14 30060 NUT,FLANGE,M6X1.0MM ZPS,GR 8.8 4
15 30069 BOLT,FLANGE HEAD,M8X1.25X20MM ZPS,GR 8.8 4
16 30074 CLAMP,EXHAUST, 2-1/2"X5/16"-18 1
17 30097 RIVET,BLIND,1/8"X3/8",SS 6
18 30101 BOLT,FLANGE HEAD,M6X1.0X25MM ZPS,GRADE 8.8 2
19 30108 BOLT,FLANGE HEAD,M6X1.0X12MM ZPS,GR 8.8 12
20 30109 WASHER, FLAT, M6X25.4MM OD ZPS,GR 8.8 3
21 30131 BOLT,FLANGE HEAD,M6X1.0X40MM ZPS,GR 8.8 3
22 30168 BOLT,SHCS,M6X1.0X30MM ZPS, HEX HEAD 4
23 40002 KIT,COOLING,EMP TK1 1
24 40140 02 BRACKET,RAD MTG. ANGLE ASSY PIE WAGON 2
25 40142 01 BRACKET,A/C CONDENSER MTG. PIE WAGON 2
26 40260 02 BRACKET,COOLING,COVER G2V2 PIE WAGON 1
27 40261 03 BRACKET,COOLING WELDMENT ASSY G2V2 PIE WAGON 1
28 50009 CLIP-AC #8 2
29 50010 CLIP-AC #6 2
30 50012 CLAMPS-AC #8 4
31 50013 CLAMPS-AC #6 4
32 50015 O-RING-AC #8 2
33 50016 O-RING-AC #6 2
34 50018 HOSE AC #8 66 CM
35 50019 HOSE AC #6 43 CM
36 50033 ELBOW,90 DEG, 1" HOSE,NYLON 3
37 50060 ADAPTER,1" HOSE X 5/8" HOSE 1
38 50063 ADAPTER,1/4NPT TO 8ORFS 2
39 50070 HOSE END,90 DEG,8-8,PUSHLOC ORFS,801 HOSE,SHORT DROP 2
40 50074 HOSE,1",BLACK 64 CM
41 50076 CLAMP,HOSE,BAND,35MM CONSTANT TENSION 11

ITEM PART NUMBER REV DESCRIPTION DESCRIPTION 2 Qty
42 50078 FITTING,A/C,90 DEG,#8,SWCH PRT LONG PILOT,FEMALE O-RING 1
43 50081 CLAMP,WIRE/TUBE,0.75"ID GALV,EXTRUDED LINER 2
44 50082 CLAMP,WIRE/TUBE,1.313"ID GALV,EXTRUDED LINER 5
45 50105 FITTING,A/C,90 DEG,#10,LS PORT LONG PILOT,FEMALE O-RING 1
46 50106 FITTING,A/C,90 DEG,#8,HS PORT LONG PILOT,FEMALE O-RING 1
47 50107 FITTING,A/C,STRAIGHT,#6 LONG PILOT,FEMALE O-RING 1
48 50110 FITTING,A/C,90 DEG,#6 LONG PILOT,FEMALE O-RING 2
49 60050 P-CLAMP 1" 5
50 70260 02 SUB-ASSY,AC COMP CONTROLLER WATERPROOF CONFIGURATION 1
51 70263 02 SUB-ASSY,AC,COMP W/POT HARNESS PIE WAGON 1

D

C

B

AA

B

C

D

1234568

8 7 6 5 4 3 2 1

UNLESS OTHERWISE SPECIFIED
REFERENCE DIMENSIONS SHOWN IN PARENTHESIS
DIMENSIONS ARE IN INCHES

ANGULAR                         1.0
NOMINAL                         0.125
ONE PLACE DECIMAL     0.060
TWO PLACE DECIMAL     0.030
THREE PLACE DECIMAL   0.010

INTERPRET GEOMETRIC TOLERANCE PERMATERIAL

FINISH

DRAWN
CHECKED

ENG APPR
MFG APPR

QA APPR

SIZE

B
PART  NUMBER REV

7/14/2014

SHEET 1 OF 11

 

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF ODYNE SYSTEMS LLC
REPRODUCTION IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF ODYNE IS PROHIBITED

7

01
SCALE 1:6 DO NOT SCALE DRAWING

07/14/14AJC

AJC

AJC 07/14/14

AJC 05/27/14

www.odyne.com

ASME Y14.5M-1994

SUB-ASSY,COOLING,PIE WAGON
G2V2

70245



 28.25 

 20.50 

 18.00  2.50 

 27.75 

 20.50 

REV REVISION DRAWN BY APPROVAL DATE

01 INITIAL MANUFACTURING RELEASE AJC AJC 07/14/14

D

C

B

AA

B

C

D

1234568

8 7 6 5 4 3 2 1

UNLESS OTHERWISE SPECIFIED
REFERENCE DIMENSIONS SHOWN IN PARENTHESIS
DIMENSIONS ARE IN INCHES

ANGULAR                         1.0
NOMINAL                         0.125
ONE PLACE DECIMAL     0.060
TWO PLACE DECIMAL     0.030
THREE PLACE DECIMAL   0.010

INTERPRET GEOMETRIC TOLERANCE PERMATERIAL

FINISH

DRAWN
CHECKED

ENG APPR
MFG APPR

QA APPR

SIZE

B
PART  NUMBER REV

7/14/2014

SHEET 2 OF 11

 

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF ODYNE SYSTEMS LLC
REPRODUCTION IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF ODYNE IS PROHIBITED

7

01
SCALE 1:8 DO NOT SCALE DRAWING

07/14/14AJC

AJC

AJC 07/14/14

AJC 05/27/14

www.odyne.com

ASME Y14.5M-1994

SUB-ASSY,COOLING,PIE WAGON
G2V2

70245



56

55

53

53

55

53

53

52

52

52

52

RADIATOR INSTALLATION

A/C CONDENSER INSTALLATION

59

59

57

62

63

59

59

60

60

58

#6 PORT

#8 PORT

NOTE: USE A #30 DRILL
BIT TO DRILL HOLES INTO

60   TO INSTALL RIVETS

REV REVISION DRAWN BY APPROVAL DATE

01 INITIAL MANUFACTURING RELEASE AJC AJC 07/14/14

ITEM PART NUMBER REV DESCRIPTION DESCRIPTION 2 Qty
52 30053 BOLT,FLANGE HEAD,M10X1.5X30MM ZPS,GR 8.8 4
53 30056 BOLT,FLANGE HEAD,M8X1.25X25MM ZPS,GR 8.8 4
54 40002 KIT,COOLING,EMP TK1 1
55 40140 02 BRACKET,RAD MTG. ANGLE ASSY PIE WAGON 2
56 40261 03 BRACKET,COOLING WELDMENT ASSY G2V2 PIE WAGON 1

TORQUE VALUE 28 FT-LB
APPLY BLUE LOCTITE TO BOLT THREADS

TORQUE VALUE 169 IN-LB
APPLY BLUE LOCTITE TO BOLT THREADS

ITEM PART NUMBER REV DESCRIPTION DESCRIPTION 2 Qty
57 10019 TRANSDUCER,500PSI,PSIG XDUCER 500PSI 0-5VDC OUTPUT 1
58 10048 CONDENSER,18X14 18" X 14" PF AC CONDENSER WIDE 1
59 30053 BOLT,FLANGE HEAD,M10X1.5X30MM ZPS,GR 8.8 4
60 30097 RIVET,BLIND,1/8"X3/8",SS 6
61 40142 01 BRACKET,A/C CONDENSER MTG. PIE WAGON 2
62 50078 FITTING,A/C,90 DEG,#8,SWCH PRT LONG PILOT,FEMALE O-RING 1
63 50110 FITTING,A/C,90 DEG,#6 LONG PILOT,FEMALE O-RING 1

TORQUE VALUE 28 FT-LB
APPLY BLUE LOCTITE TO BOLT THREADS

D

C

B

AA

B

C

D

1234568

8 7 6 5 4 3 2 1

UNLESS OTHERWISE SPECIFIED
REFERENCE DIMENSIONS SHOWN IN PARENTHESIS
DIMENSIONS ARE IN INCHES

ANGULAR                         1.0
NOMINAL                         0.125
ONE PLACE DECIMAL     0.060
TWO PLACE DECIMAL     0.030
THREE PLACE DECIMAL   0.010

INTERPRET GEOMETRIC TOLERANCE PERMATERIAL

FINISH

DRAWN
CHECKED

ENG APPR
MFG APPR

QA APPR

SIZE

B
PART  NUMBER REV

7/14/2014

SHEET 3 OF 11

 

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF ODYNE SYSTEMS LLC
REPRODUCTION IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF ODYNE IS PROHIBITED

7

01
SCALE 
1:10

DO NOT SCALE DRAWING

07/14/14AJC

AJC

AJC 07/14/14

AJC 05/27/14

www.odyne.com

ASME Y14.5M-1994

SUB-ASSY,COOLING,PIE WAGON
G2V2

70245



64

OUTSIDE AIR TEMP SENSOR INSTALL

A/C COMPRESSOR CONTROLLER INSTALL

REV REVISION DRAWN BY APPROVAL DATE

01 INITIAL MANUFACTURING RELEASE AJC AJC 07/14/14

ITEM PART NUMBER REV DESCRIPTION DESCRIPTION 2 Qty
64 10036 SENSOR,OAT OUTSIDE AIR TEMP SENSOR 1

ITEM PART NUMBER REV DESCRIPTION DESCRIPTION 2 Qty
65 70260 02 SUB-ASSY,AC COMP CONTROLLER WATERPROOF CONFIGURATION 1
66 30168 BOLT,SHCS,M6X1.0X30MM ZPS, HEX HEAD 4

TORQUE VALUE 69 IN-LB
APPLY BLUE LOCTITE TO BOLT THREADS

D

C

B

AA

B

C

D

1234568

8 7 6 5 4 3 2 1

UNLESS OTHERWISE SPECIFIED
REFERENCE DIMENSIONS SHOWN IN PARENTHESIS
DIMENSIONS ARE IN INCHES

ANGULAR                         1.0
NOMINAL                         0.125
ONE PLACE DECIMAL     0.060
TWO PLACE DECIMAL     0.030
THREE PLACE DECIMAL   0.010

INTERPRET GEOMETRIC TOLERANCE PERMATERIAL

FINISH

DRAWN
CHECKED

ENG APPR
MFG APPR

QA APPR

SIZE

B
PART  NUMBER REV

7/14/2014

SHEET 4 OF 11

 

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF ODYNE SYSTEMS LLC
REPRODUCTION IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF ODYNE IS PROHIBITED

7

01
SCALE 
1:10

DO NOT SCALE DRAWING

07/14/14AJC

AJC

AJC 07/14/14

AJC 05/27/14

www.odyne.com

ASME Y14.5M-1994

SUB-ASSY,COOLING,PIE WAGON
G2V2

70245



68

COOLING PUMP INSTALL

A/C COMPRESSOR INSTALL

71

70

73

72

69

REV REVISION DRAWN BY APPROVAL DATE

01 INITIAL MANUFACTURING RELEASE AJC AJC 07/14/14

ITEM PART NUMBER REV DESCRIPTION DESCRIPTION 2 Qty
67 10050 PUMP,WATER 1
68 30069 BOLT,FLANGE HEAD,M8X1.25X20MM ZPS,GR 8.8 4

TORQUE VALUE 169 IN-LB
APPLY BLUE LOCTITE TO BOLT THREADS

ITEM PART NUMBER REV DESCRIPTION DESCRIPTION 2 Qty
69 30108 BOLT,FLANGE HEAD,M6X1.0X12MM ZPS,GR 8.8 1
70 30109 WASHER, FLAT, M6X25.4MM OD ZPS,GR 8.8 3
71 30131 BOLT,FLANGE HEAD,M6X1.0X40MM ZPS,GR 8.8 3
72 50105 FITTING,A/C,90 DEG,#10,LS PORT LONG PILOT,FEMALE O-RING 1
73 50106 FITTING,A/C,90 DEG,#8,HS PORT LONG PILOT,FEMALE O-RING 1
74 70263 02 SUB-ASSY,AC,COMP W/POT HARNESS PIE WAGON 1

TORQUE VALUE 69 IN-LB
APPLY BLUE LOCTITE TO BOLT THREADS

D

C

B

AA

B

C

D

1234568

8 7 6 5 4 3 2 1

UNLESS OTHERWISE SPECIFIED
REFERENCE DIMENSIONS SHOWN IN PARENTHESIS
DIMENSIONS ARE IN INCHES

ANGULAR                         1.0
NOMINAL                         0.125
ONE PLACE DECIMAL     0.060
TWO PLACE DECIMAL     0.030
THREE PLACE DECIMAL   0.010

INTERPRET GEOMETRIC TOLERANCE PERMATERIAL

FINISH

DRAWN
CHECKED

ENG APPR
MFG APPR

QA APPR

SIZE

B
PART  NUMBER REV

7/14/2014

SHEET 5 OF 11

 

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF ODYNE SYSTEMS LLC
REPRODUCTION IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF ODYNE IS PROHIBITED

7

01
SCALE 
1:10

DO NOT SCALE DRAWING

07/14/14AJC

AJC

AJC 07/14/14

AJC 05/27/14

www.odyne.com

ASME Y14.5M-1994

SUB-ASSY,COOLING,PIE WAGON
G2V2

70245



INSTALL GROUND STRAP INSTALLATION POINTS

76

77

75

FAN CONTROLLER INSTALL

78

REV REVISION DRAWN BY APPROVAL DATE

01 INITIAL MANUFACTURING RELEASE AJC AJC 07/14/14

ITEM PART NUMBER REV DESCRIPTION DESCRIPTION 2 Qty
75 10051 CONTROLLER,FAN 1
76 30059 BOLT,FLANGE HEAD,M6X1.0X55MM ZPS,GR 8.8 4
77 30060 NUT,FLANGE,M6X1.0MM ZPS,GR 8.8 4
78 60050 P-CLAMP 1" 1

TORQUE VALUE 69 IN-LB
APPLY BLUE LOCTITE TO BOLT THREADS

D

C

B

AA

B

C

D

1234568

8 7 6 5 4 3 2 1

UNLESS OTHERWISE SPECIFIED
REFERENCE DIMENSIONS SHOWN IN PARENTHESIS
DIMENSIONS ARE IN INCHES

ANGULAR                         1.0
NOMINAL                         0.125
ONE PLACE DECIMAL     0.060
TWO PLACE DECIMAL     0.030
THREE PLACE DECIMAL   0.010

INTERPRET GEOMETRIC TOLERANCE PERMATERIAL

FINISH

DRAWN
CHECKED

ENG APPR
MFG APPR

QA APPR

SIZE

B
PART  NUMBER REV

7/14/2014

SHEET 6 OF 11

 

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF ODYNE SYSTEMS LLC
REPRODUCTION IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF ODYNE IS PROHIBITED

7

01
SCALE 1:6 DO NOT SCALE DRAWING

07/14/14AJC

AJC

AJC 07/14/14

AJC 05/27/14

www.odyne.com

ASME Y14.5M-1994

SUB-ASSY,COOLING,PIE WAGON
G2V2

70245



81

79

82

83

85

84

A/C RECIEVER/DRYER INSTALL

TELEMATICS INSTALL

REV REVISION DRAWN BY APPROVAL DATE

01 INITIAL MANUFACTURING RELEASE AJC AJC 07/14/14

ITEM PART NUMBER REV DESCRIPTION DESCRIPTION 2 Qty
79 10095 TELEMATICS MODULE,HED CL-T02-100-ODS-001 1
80 10096 ANTENNA,TELEMATICS,HED,7M CBL1 108-01-606–GSM/GPS 1
81 30101 BOLT,FLANGE HEAD,M6X1.0X25MM ZPS,GRADE 8.8 2

TORQUE VALUE 69 IN-LB
APPLY BLUE LOCTITE TO BOLT THREADS

ITEM PART NUMBER REV DESCRIPTION DESCRIPTION 2 Qty
82 10015 RECEIVER-DRIER/W LS-SWITCH 1
83 30074 CLAMP,EXHAUST, 2-1/2"X5/16"-18 1
84 50107 FITTING,A/C,STRAIGHT,#6 LONG PILOT,FEMALE O-RING 1
85 50110 FITTING,A/C,90 DEG,#6 LONG PILOT,FEMALE O-RING 1

TORQUE VALUE 13 FT-LB
APPLY BLUE LOCTITE TO BOLT THREADS

D

C

B

AA

B

C

D

1234568

8 7 6 5 4 3 2 1

UNLESS OTHERWISE SPECIFIED
REFERENCE DIMENSIONS SHOWN IN PARENTHESIS
DIMENSIONS ARE IN INCHES

ANGULAR                         1.0
NOMINAL                         0.125
ONE PLACE DECIMAL     0.060
TWO PLACE DECIMAL     0.030
THREE PLACE DECIMAL   0.010

INTERPRET GEOMETRIC TOLERANCE PERMATERIAL

FINISH

DRAWN
CHECKED

ENG APPR
MFG APPR

QA APPR

SIZE

B
PART  NUMBER REV

7/14/2014

SHEET 7 OF 11

 

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF ODYNE SYSTEMS LLC
REPRODUCTION IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF ODYNE IS PROHIBITED

7

01
SCALE 1:6 DO NOT SCALE DRAWING

07/14/14AJC

AJC

AJC 07/14/14

AJC 05/27/14

www.odyne.com

ASME Y14.5M-1994

SUB-ASSY,COOLING,PIE WAGON
G2V2

70245



8789

8789

8789 86

86

89

89

87

87

89

89

P-CLAMP INSTALL

88 89
8889

88 8889 89

REV REVISION DRAWN BY APPROVAL DATE

01 INITIAL MANUFACTURING RELEASE AJC AJC 07/14/14

ITEM PART NUMBER REV DESCRIPTION DESCRIPTION 2 Qty
86 50081 CLAMP,WIRE/TUBE,0.75"ID GALV,EXTRUDED LINER 2
87 50082 CLAMP,WIRE/TUBE,1.313"ID GALV,EXTRUDED LINER 5
88 60050 P-CLAMP 1" 4
89 30108 BOLT,FLANGE HEAD,M6X1.0X12MM ZPS,GR 8.8 11

TORQUE VALUE 69 IN-LB
APPLY BLUE LOCTITE TO BOLT THREADS

M6 X 1.0 MM BOLT TORQUE

D

C

B

AA

B

C

D

1234568

8 7 6 5 4 3 2 1

UNLESS OTHERWISE SPECIFIED
REFERENCE DIMENSIONS SHOWN IN PARENTHESIS
DIMENSIONS ARE IN INCHES

ANGULAR                         1.0
NOMINAL                         0.125
ONE PLACE DECIMAL     0.060
TWO PLACE DECIMAL     0.030
THREE PLACE DECIMAL   0.010

INTERPRET GEOMETRIC TOLERANCE PERMATERIAL

FINISH

DRAWN
CHECKED

ENG APPR
MFG APPR

QA APPR

SIZE

B
PART  NUMBER REV

7/14/2014

SHEET 8 OF 11

 

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF ODYNE SYSTEMS LLC
REPRODUCTION IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF ODYNE IS PROHIBITED

7

01
SCALE 1:5 DO NOT SCALE DRAWING

07/14/14AJC

AJC

AJC 07/14/14

AJC 05/27/14

www.odyne.com

ASME Y14.5M-1994

SUB-ASSY,COOLING,PIE WAGON
G2V2

70245



91

93

93

92

9 CM HOSE LENGTH

93
92

93
90

93

92

93

90

93
92

93

92
92

92

93

90

9 CM HOSE LENGTH

22 CM HOSE LENGTH

12 CM HOSE LENGTH

12 CM HOSE LENGTHCOOLING HOSE INSTALL

REV REVISION DRAWN BY APPROVAL DATE

01 INITIAL MANUFACTURING RELEASE AJC AJC 07/14/14

ITEM PART NUMBER REV DESCRIPTION DESCRIPTION 2 Qty
90 50033 ELBOW,90 DEG, 1" HOSE,NYLON 3
91 50060 ADAPTER,1" HOSE X 5/8" HOSE 1
92 50074 HOSE,1",BLACK 64 CM
93 50076 CLAMP,HOSE,BAND,35MM CONSTANT TENSION 11

D

C

B

AA

B

C

D

1234568

8 7 6 5 4 3 2 1

UNLESS OTHERWISE SPECIFIED
REFERENCE DIMENSIONS SHOWN IN PARENTHESIS
DIMENSIONS ARE IN INCHES

ANGULAR                         1.0
NOMINAL                         0.125
ONE PLACE DECIMAL     0.060
TWO PLACE DECIMAL     0.030
THREE PLACE DECIMAL   0.010

INTERPRET GEOMETRIC TOLERANCE PERMATERIAL

FINISH

DRAWN
CHECKED

ENG APPR
MFG APPR

QA APPR

SIZE

B
PART  NUMBER REV

7/14/2014

SHEET 9 OF 11

 

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF ODYNE SYSTEMS LLC
REPRODUCTION IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF ODYNE IS PROHIBITED

7

01
SCALE 1:5 DO NOT SCALE DRAWING

07/14/14AJC

AJC

AJC 07/14/14

AJC 05/27/14

www.odyne.com

ASME Y14.5M-1994

SUB-ASSY,COOLING,PIE WAGON
G2V2

70245



94

95

REV REVISION DRAWN BY APPROVAL DATE

01 INITIAL MANUFACTURING RELEASE AJC AJC 07/14/14

ITEM PART NUMBER REV DESCRIPTION DESCRIPTION 2 Qty
94 50018 HOSE AC #8 66 CM
95 50019 HOSE AC #6 43 CM

D

C

B

AA

B

C

D

1234568

8 7 6 5 4 3 2 1

UNLESS OTHERWISE SPECIFIED
REFERENCE DIMENSIONS SHOWN IN PARENTHESIS
DIMENSIONS ARE IN INCHES

ANGULAR                         1.0
NOMINAL                         0.125
ONE PLACE DECIMAL     0.060
TWO PLACE DECIMAL     0.030
THREE PLACE DECIMAL   0.010

INTERPRET GEOMETRIC TOLERANCE PERMATERIAL

FINISH

DRAWN
CHECKED

ENG APPR
MFG APPR

QA APPR

SIZE

B
PART  NUMBER REV

7/14/2014

SHEET 10 OF 11

 

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF ODYNE SYSTEMS LLC
REPRODUCTION IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF ODYNE IS PROHIBITED

7

01
SCALE 1:7 DO NOT SCALE DRAWING

07/14/14AJC

AJC

AJC 07/14/14

AJC 05/27/14

www.odyne.com

ASME Y14.5M-1994

SUB-ASSY,COOLING,PIE WAGON
G2V2

70245



96

96

96

97

REV REVISION DRAWN BY APPROVAL DATE

01 INITIAL MANUFACTURING RELEASE AJC AJC 07/14/14

ITEM PART NUMBER REV DESCRIPTION DESCRIPTION 2 Qty
96 30058 BOLT,FLANGE HEAD,M10X1.5X20MM ZPS,GR 8.8 5
97 40260 02 BRACKET,COOLING,COVER G2V2 PIE WAGON 1

TORQUE VALUE 28 FT-LB
APPLY BLUE LOCTITE TO BOLT THREADS

D

C

B

AA

B

C

D

1234568

8 7 6 5 4 3 2 1

UNLESS OTHERWISE SPECIFIED
REFERENCE DIMENSIONS SHOWN IN PARENTHESIS
DIMENSIONS ARE IN INCHES

ANGULAR                         1.0
NOMINAL                         0.125
ONE PLACE DECIMAL     0.060
TWO PLACE DECIMAL     0.030
THREE PLACE DECIMAL   0.010

INTERPRET GEOMETRIC TOLERANCE PERMATERIAL

FINISH

DRAWN
CHECKED

ENG APPR
MFG APPR

QA APPR

SIZE

B
PART  NUMBER REV

7/14/2014

SHEET 11 OF 11

 

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF ODYNE SYSTEMS LLC
REPRODUCTION IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF ODYNE IS PROHIBITED

7

01
SCALE 1:8 DO NOT SCALE DRAWING

07/14/14AJC

AJC

AJC 07/14/14

AJC 05/27/14

www.odyne.com

ASME Y14.5M-1994

SUB-ASSY,COOLING,PIE WAGON
G2V2

70245


	Sheet1
	Drawing View6

	Sheet2
	Drawing View22
	Drawing View23
	Drawing View24

	Sheet3
	Drawing View7
	Drawing View8

	Sheet4
	Drawing View9
	Drawing View10

	Sheet5
	Drawing View11
	Drawing View12

	Sheet6
	Drawing View13
	Drawing View14

	Sheet7
	Drawing View15
	Drawing View16

	Sheet8
	Drawing View17
	Drawing View18

	Sheet9
	Drawing View19

	Sheet10
	Drawing View20

	Sheet11
	Drawing View21


